



GLOBAL JOURNAL OF SCIENCE FRONTIER RESEARCH
Volume 11 Issue 4 Version 1.0 July 2011
Type: Double Blind Peer Reviewed International Research Journal
Publisher: Global Journals Inc. (USA)
ISSN: 0975-5896

Finite Integrals Pertaining To a Product of Special Functions

By V.B.L. Chaurasia, Yudhveer Singh

University of Rajasthan, Jaipur

Abstracts - An attempt has been made to establish an integral concerning the product of generalized Lauricella function and two H-function of several complex variables (Srivastava and Panda [4,5]) By giving suitable values to the parameters, the main integral reduces to F function. Mainly we are using the series representation of H-function given by Olkha and Chaurasia [2,3].

Keywords : *Multivariable H-function, H-function in Series form, Lauricella function, Jacobi polynomial, Kampé de Fériet function.*

Mathematics Subject Classification 2000 : 26A33, 44A10, 33C60



Strictly as per the compliance and regulations of:



Finite Integrals Pertaining To a Product of Special Functions

V.B.L. Chaurasia^α, Yudhveer Singh^Ω

Abstract - An attempt has been made to establish an integral concerning the product of generalized Lauricella function and two H-function of several complex variables (Srivastava and Panda [4,5]) By giving suitable values to the parameters, the main integral reduces to F function. Mainly we are using the series representation of H-function given by Olkha and Chaurasia [2,3].

Keywords : Multivariable H-function, H-function in Series form, Lauricella function, Jacobi polynomial, Kampé de Fériet function.

1. INTRODUCTION

The series representation of the H-function of several complex variable studied by Olkha and Chaurasia [2,3] is given as follows:

$$H[z_1, \dots, z_r] = H_{A', C'; [B', D']; \dots; [B^{(r)}, D^{(r)}]}^{0, \lambda'; (u', v') \dots; (u^{(r)}, v^{(r)})} \left[\begin{matrix} [(a): \theta', \dots, \theta^{(r)}]: [b': \phi'] \dots; [b^{(r)}: \phi^{(r)}]; \\ [(c): \psi', \dots, \psi^{(r)}]: [d': \delta'] \dots; [d^{(r)}: \delta^{(r)}]; \end{matrix} \begin{matrix} z_1, \dots, z_r \end{matrix} \right]$$

$$= \sum_{m_i=1}^{u(i)} \sum_{n_i=0}^{\infty} \Phi_1 \Phi_2 \frac{\prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)}}{\prod_{i=1}^r (\delta_{(m_i)}^{(i)} n_i!)}, \quad \dots(1.1)$$

Where

$$\Phi_1 = \frac{\prod_{j=1}^{\lambda'} \Gamma\left(1 - a_j + \sum_{i=1}^r \theta_j^{(i)} U_i\right)}{\prod_{j=\lambda'+1}^{A'} \Gamma\left(a_j - \sum_{i=1}^r \theta_j^{(i)} U_i\right) \prod_{j=\lambda'+1}^{C'} \Gamma\left(1 - c_j + \sum_{i=1}^r \psi_j^{(i)} U_i\right)} \quad \dots(1.2)$$

$$\Phi_2 = \frac{\prod_{\substack{j=1 \\ j \neq m_i}}^{u(i)} \Gamma(d_j^{(i)} - \delta_j^{(i)} U_i) \prod_{j=1}^{v(i)} \Gamma(1 - b_j^{(i)} + \phi_j^{(i)} U_i)}{\prod_{j=u^{(i)}+1}^{D^{(i)}} \Gamma(1 - d_j^{(i)} + \delta_j^{(i)} U_i) \prod_{j=v^{(i)}+1}^{B^{(i)}} \Gamma(b_j^{(i)} - \phi_j^{(i)} U_i)} \quad \dots(1.3)$$

Author^α: Department of Mathematics, University of Rajasthan, Jaipur - 302055, Rajasthan, India. E-mail : drvblc@yahoo.com

Author^Ω: Jaipur National University, Jagatpura, Jaipur - 302025, Rajasthan, India. E-mail : yudhvir.chahal@gmail.com

$$U_i = \frac{d_{m_i}^{(i)} + n_i}{\delta_{m_i}^{(i)}}, \quad i=1, \dots, r \quad \dots(1.4)$$

which is valid under the following condition

$$\delta_{m_i}^{(i)} [d_j^{(i)} + p_i] \neq \delta_j^{(i)} [d_{m_i}^{(i)} + n_i] \quad \dots(1.5)$$

$$\text{for } j \neq m_i, m_i = 1, \dots, u^{(i)}; p_i, n_i = 0, 1, 2, \dots; z_i \neq 0$$

$$\nabla_i = \sum_{j=1}^{A'} \theta_j^{(i)} - \sum_{j=1}^{C'} \psi_j^{(i)} + \sum_{j=1}^{B^{(i)}} \phi_j^{(i)} - \sum_{j=1}^{D^{(i)}} \delta_j^{(i)} < 0, \quad \forall i=1, \dots, r \quad \dots(1.6)$$

Srivastava and Panda [5] have introduced the multivariable H-function

$$H[y_1, \dots, y_R] = H_{A, C: [M', N']; \dots; [M^R, N^R]}^{0, \lambda: (\alpha', \beta'); \dots; (\alpha^{(R)}, \beta^{(R)})} \left[\begin{matrix} [(g): \gamma', \dots, \gamma^{(R)}]: [q': n']; \dots; [q^{(R)}: n^{(R)}]; \\ [(f): \xi', \dots, \xi^{(R)}]: [p': \varepsilon']; \dots; [p^{(R)}: \varepsilon^{(R)}]; \end{matrix} \middle| y_1, \dots, y_R \right] \quad \dots(1.7)$$

$$T_i = \sum_{j=1}^A \gamma_j^{(i)} - \sum_{j=1}^C \xi_j^{(i)} + \sum_{j=1}^{M^{(i)}} \eta_j^{(i)} - \sum_{j=1}^{N^{(i)}} \varepsilon_j^{(i)} \leq 0, \quad \dots(1.8)$$

$$\Omega_i = - \sum_{j=\lambda+1}^A \gamma_j^{(i)} - \sum_{j=1}^C \xi_j^{(i)} + \sum_{j=1}^{\beta^{(i)}} \eta_j^{(i)} - \sum_{j=\beta^{(i)}+1}^{M^{(i)}} \eta_j^{(i)} + \sum_{j=1}^{\alpha^{(i)}} \varepsilon_j^{(i)} - \sum_{j=\alpha^{(i)}+1}^{N^{(i)}} \varepsilon_j^{(i)} > 0, \quad \dots(1.9)$$

$$(1.10) \quad |\arg(y_i)| < \frac{T_i \pi}{2}, \quad \forall i=1, \dots, R.$$

II. THE MAIN INTEGRAL TRANSFORMATION

We obtained the following integral transformation for H-function of several complex variables defined by Srivastava and Panda [4] (see also [3])

$$\int_0^1 x^{\rho-1} (1-x)^{\sigma} H[y_1 x^{h_1} (1-x)^{k_1}; \dots; y_R x^{h_R} (1-x)^{k_R}] \\ \cdot H\left[z_1 x^{h'_1} (1-x)^{k'_1}; \dots; z_r x^{h'_r} (1-x)^{k'_r}\right] F_{\sigma: Q'; \dots; Q^{(s)}; 1; 1}^{v: P'; \dots; P^S; 0; 0}$$

$$\begin{aligned}
& \left[\begin{array}{l} [\alpha_v]:[a';...;a^{(s)}\gamma,\gamma]:[(\ell'):\rho'];...;[(\ell^{(s)}):\rho^{(s)}]:[...];[...];z'_1,...,z'_s,-xt,(1-x)t \\ [\beta_\sigma]:[b';...;b^{(s)}\mu,\mu]:[(m'):\tau'];...;[(m^{(s)}):\tau^{(s)}]:[\alpha+1;1];[\beta+1;1]; \end{array} \right] dx \\
& = \sum_{m_i=1}^{u(i)} \sum_{k,n,n_i=0}^{\infty} \frac{\prod_{j=1}^v (\alpha_j)_{n\gamma_j} \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha+\beta+n+1)_k}{\prod_{j=1}^{\sigma} (\beta_j)_{n\mu_j} \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha+1)_n (\beta+1)_n k! (\alpha+1)_k} \Phi_1 \Phi_2 \\
& \cdot F_{\sigma:Q';...;Q^{(s)}}^{v:P';...;P^{(s)}} \left[\begin{array}{l} [\alpha_v+n\gamma_v]:[a';...;a^{(s)}]:[(\ell'):\rho'];...;[(\ell^{(s)}):\rho^{(s)}]; \\ [\beta_\sigma+n\mu_\sigma]:[b';...;b^{(s)}]:[(m'):\tau'];...;[(m^{(s)}):\tau^{(s)}]; \end{array} \begin{array}{l} z'_1,...,z'_s \end{array} \right] \\
& \cdot H_{A+2,C+1:[M',N'];...;[M^{(R)},N^{(R)}]}^{0,\lambda+2:-(\alpha',\beta');...;(\alpha^{(R)},\beta^{(R)})} \left[\begin{array}{l} \left[1-\rho-\sum_{i=1}^r h'_i U_i -k; h_1;...;h_R \right]; \left[-\sigma-\sum_{i=1}^r k'_i U_i; k_1,...,k_R \right]; \\ [(f):\xi',...,\xi^{(R)}]; \end{array} \right] \\
& \left[\begin{array}{l} [(g):\gamma',...,\gamma^{(R)}];[q':\eta'];...;[q^{(R)}:\eta^{(R)}]; \\ \left[-\rho-\sigma-k-\sum_{i=1}^r (k'_i+h'_i)U_i;(h_1+k_1),...,(h_R+k_R) \right];[p':\varepsilon'];...;[p^{(R)}:\varepsilon^{(R)}]; \end{array} \right] y_1,...,y_R, \quad \dots(2.1)
\end{aligned}$$

Where

$$\operatorname{Re} \left[\rho + \sum_{i=1}^R h_i \frac{p_j^{(i)}}{\varepsilon_j^{(i)}} + \sum_{\ell=1}^r h'_\ell \frac{d_j^\ell}{\delta_j^{(\ell)}} \right] > 0,$$

$$\operatorname{Re} \left[\sigma + \sum_{i=1}^R \frac{k_i p_j^i}{\varepsilon_j^{(i)}} + \sum_{\ell=1}^r k'_\ell \frac{d_j^\ell}{\delta_j^{(\ell)}} \right] > -1,$$

$$j=1,...,\alpha^{(i)}, k_i > 0, h_i > 0, h'_\ell, k'_\ell > 0, T_i > 0, |\arg(y_i)| < \frac{T_i \pi}{2}, i=1,...,R, \ell=1,...,r, |t| < 1,$$

Where the series on the right hand side is convergent and is given by (1.8).

III. PROOF

To prove that (2.1), we start with the following result [6] :

$$F_{\sigma:Q';\dots;Q^{(s)};1;1}^{v:P';\dots;P^S;0;0} \left[\begin{matrix} [\alpha_v]:[a';\dots;a^{(s)};\gamma,\gamma]:[(\ell'):p'];\dots;[(\ell^{(s)}):p^{(s)}]:[\dots];[\dots];z'_1,\dots,z'_s,-xt,(1-x)t \\ [\beta_\sigma]:[b';\dots;b^{(s)};\mu,\mu]:[(m'):\tau'];\dots;[(m^{(s)}):\tau^{(s)}]:[\alpha+1;1];[\beta+1;1] \end{matrix} \right]$$

$$= \sum_{n=0}^{\infty} \frac{\prod_{j=1}^v (\alpha_j)_{n\gamma_j} t^n P_n^{(\alpha,\beta)} (1-2x)}{\prod_{j=1}^{\sigma} (\beta_j)_{n\mu_j} (\alpha+1)_n (\beta+1)_n}$$

$$F_{\sigma:Q';\dots;Q^{(s)}}^{v:P';\dots;P^{(s)}} \left[\begin{matrix} [(\alpha_v+n\gamma_v):a';\dots;a^{(s)}]:[(\ell'):p'];\dots;[(\ell^{(s)}):p^{(s)}]; z'_1,\dots,z'_s \\ [\beta_\sigma+n\mu_\sigma):b';\dots;b^{(s)}]:[(m'):\tau'];\dots;[(m^{(s)}):\tau^{(s)}]; \end{matrix} \right], \quad \dots(3.1)$$

where $\gamma_i a_j^{(i)}$; $j = 1, \dots, v$ and $i = 1, \dots, s$ $\mu_i \beta_j^{(i)}$; $j = 1, \dots, \sigma$ and $i = 1, \dots, s$; $\rho_i \tau_k^{(i)}$; $i = 1, \dots, P^{(0)}$; $j = 1, \dots, s$ and $k = 1, \dots, Q^{(s)}$ are all real and positive, (α_i) stand for the sequence of parameter $\alpha_1, \dots, \alpha_v$; $(\ell^{(j)})$ stand for the sequence of $P^{(0)}$ parameters $\ell_1^{(j)}, \dots, \ell_{p(j)}^{(j)}$, $j = 1, \dots, s$, and also similar interpretation for (β_σ) and $(m^{(j)})$, $j = 1, \dots, s$ and F denote the generalized Lauricella function of s -complex variables $z'_1, \dots, z'_s$ given by Srivastava and Daoust [8]. Now the proof of main integral transform (2.1) is obtained after multiplying both side (3.1) by

$$x^{\rho-1} (1-x)^{\sigma} H[y_1 x^{h_1} (1-x)^{k_1}, \dots, y_R x^{h_R} (1-x)^{k_R}]$$

$$\cdot H[z_1 x^{h'_1} (1-x)^{k'_1}, \dots, z_r x^{h'_r} (1-x)^{k'_r}]$$

And integrate with respect to x from 0 to 1.

Now we represent the $H[z_1 x^{h'_1} (1-x)^{k'_1}, \dots, z_r x^{h'_r} (1-x)^{k'_r}]$ in series form [3], given by (1.1) and interchange the order of integrations and summations. The required formula is obtained by evaluating the innermost integral with the help of result [5].

$$\int_0^1 x^{\rho-1} (1-x)^{\sigma} H \left[y_1 x^{h_1} (1-x)^{k_1}, \dots, y_R x^{h_R} (1-x)^{k_R} \right] P_n^{\alpha,\beta} (1-2x) dx$$

$$= \sum_{k=0}^{\infty} \frac{(-n)_k (\alpha + \beta + n + 1)_k}{k! (\alpha + 1)_k} H_{A+2,C+1;[M',N'];\dots;[M^R,N^R]}^{0,\lambda+2;:(\alpha',\beta');\dots;(\alpha^R,\beta^R)}$$

$$\left[\begin{array}{l} [1-\rho-k; h_1, \dots, h_R], [-\sigma; k_1, \dots, k_R], [(g): \gamma', \dots, \gamma^{(R)}], [(q): \eta']; \dots; [q^{(R)}: \eta^{(R)}]; \\ [(f): \xi', \dots, \xi^{(R)}], [1-\rho-\sigma-k; (h_1+k_1), \dots, (h_R+k_R)], [p': \varepsilon']; \dots; [p^{(R)}: \varepsilon^{(R)}]; \end{array} \right. y_1, \dots, y_R \quad \dots (3.2)$$

Where

$$\operatorname{Re} \left(\rho + \sum_{i=1}^R \frac{h_i p_j^{(i)}}{\varepsilon_j^{(i)}} \right) > 0, \operatorname{Re} \left(\sigma + \sum_{i=1}^R \frac{k_i p_j^{(i)}}{\varepsilon_j^{(i)}} \right) > -1,$$

$$j=1, \dots, \alpha^{(i)}, k_i > 0, h_i > 0, T_i > 0, |\arg(y_i)| < \frac{T_i \pi}{2}, i=1, \dots, R \text{ and } T_i \text{ is given by (1.8).}$$

IV. SPECIAL CASES

Taking $h_i \rightarrow 0 (i=1 \text{ to } R)$, $h'_i \rightarrow 0 (i=1 \text{ to } r)$ in (2.1), we obtain the following result

$$\int_0^1 x^{\rho-1} (1-x)^\sigma H \left[y_1 (1-x)^{k_1}, \dots, y_R (1-x)^{k_R} \right] \\ \cdot H \left[z_1 (1-x)^{k'_1}, \dots, z_r (1-x)^{k'_r} \right] \\ F_{\sigma: Q'; \dots; Q^{(s)}; 1; 1}^{\nu: P'; \dots; P^{(s)}; 0; 0} \left[\begin{array}{l} [\alpha_\nu]: [a'; \dots; a^{(s)}], \gamma, \gamma': [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; [\dots]; [\dots]; z'_1, \dots, z'_s, -xt, (1-x)t \\ [\beta_\sigma]: [b'; \dots; b^{(s)}], \mu, \mu': [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; [\alpha+1; 1]; [\beta+1; 1]; \end{array} \right] dx \\ = \sum_{m_i=1}^{u(i)} \sum_{k, n, n_i=0}^{\infty} \frac{\prod_{j=1}^v (\alpha_j)_{n_j} \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha + \beta + n + 1)_k \Gamma(\rho + k)}{\prod_{j=1}^\sigma (\beta_j)_{n_j} \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha + 1)_n (\beta + 1)_n k! (\alpha + 1)_k} \Phi_1 \Phi_2 \\ \cdot F_{\sigma: Q'; \dots; Q^{(s)}}^{\nu: P'; \dots; P^{(s)}} \left[\begin{array}{l} [\alpha_\nu + n \gamma_\nu]: [a'; \dots; a^s]; [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; \\ [\beta_\sigma + n \mu_\sigma]: [b'; \dots; b^{(s)}]; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; z'_1, \dots, z'_s \end{array} \right] \\ \cdot H_{A+1, C+1: [M', N']; \dots; [M^{(R)}, N^{(R)}]}^{0, \lambda+1: (\alpha', \beta'); \dots; (\alpha^{(R)}, \beta^{(R)})} \left[\begin{array}{l} \left[-\sigma - \sum_{i=1}^r k'_i U_i; k_1, \dots, k_R \right]; \\ [(f): \xi', \dots, \xi^{(R)}]; \end{array} \right]$$

$$\left[\begin{array}{l} [(g): \gamma', \dots, \gamma^R]; [q': \eta']; \dots; [q^R: \eta^R]; \\ \left[-\rho - \sigma - k - \sum_{i=1}^R k_i' U_i; k_1, \dots, k_R \right]; [p': \varepsilon']; \dots; [p^{(R)}: \varepsilon^{(R)}]; \end{array} \right. y_1, \dots, y_R \right], \quad \dots(4.1)$$

Where

$$\operatorname{Re}(\rho) > 0, \operatorname{Re} \left(\sigma + \sum_{i=1}^R \frac{k_i p_j^{(i)}}{\varepsilon_j^i} + \sum_{\ell=1}^r k_\ell' \frac{d_j^{(\ell)}}{\delta_j^{(\ell)}} \right) > -1,$$

$$j=1, \dots, \alpha^{(i)}, k_i' > 0, k_\ell' > 0, T_i > 0, |\arg(y_i)| < \frac{T_i \pi}{2}, i=1, \dots, R, \ell=1, \dots, r, |t| < 1.$$

(2) Taking $k_i \rightarrow 0$ ($i=1$ to R), $k_i' \rightarrow 0$ ($i=1$ to r) in (2.1), we obtain the following result

$$\begin{aligned} & \int_0^1 x^{\rho-1} (1-x)^\sigma H \left[y_1 x^{h_1}, \dots, y_R x^{h_R} \right] H \left[z_1 x^{h'_1}, \dots, z_r x^{h'_r} \right] \\ & \cdot F_{\sigma: Q'; \dots; Q^S; 1; 1}^{v: P'; \dots; P^{(s)}; 0; 0} \left[\begin{array}{l} [\alpha_v]: [a'; \dots; a^{(s)}]_{\gamma, \gamma'}; [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; [\dots]; [\dots]; z'_1, \dots, z'_s, -xt, (1-x)t \\ [\beta_\sigma]: [b'; \dots; b^{(s)}]_{\mu, \mu'}; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; [\alpha+1: 1]; [\beta+1: 1]; \end{array} \right] dx \\ & = \sum_{m_i=1}^{u(i)} \sum_{k, n, n_i=0}^{\infty} \frac{\prod_{j=1}^v (\alpha_j)_{n_j} \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha + \beta + n + 1)_k \Gamma(\sigma + 1)}{\prod_{j=1}^{\sigma} (\beta_j)_{n_j} \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha + 1)_n (\beta + 1)_n k! (\alpha + 1)_k} \Phi_1 \Phi_2 \\ & \cdot F_{\sigma: Q'; \dots; Q^{(s)}}^{v: P'; \dots; P^{(s)}} \left[\begin{array}{l} [\alpha_v + n \gamma_v]: [a'; \dots; a^{(s)}]; [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; \\ [\beta_\sigma + n \mu_\sigma]: [b'; \dots; b^{(s)}]; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; \end{array} \right. z'_1, \dots, z'_s \left. \right] \\ & \cdot H_{A+1, C+1; [M', N']; \dots; [M^{(R)}, N^{(R)}]}^{0, \lambda+1: (\alpha', \beta'); \dots; (\alpha^{(R)}, \beta^{(R)})} \left[\begin{array}{l} \left[1 - \rho - k - \sum_{i=1}^r h_i' U_i; h_1, \dots, h_R \right]; \\ [(f): \xi'; \dots; \xi^{(R)}]; \end{array} \right. y_1, \dots, y_R \left. \right], \quad \dots(4.2) \end{aligned}$$

Where

$$\operatorname{Re} \left(\rho + \sum_{i=1}^R \frac{h_i p_j^{(i)}}{\varepsilon_j} + \sum_{\ell=1}^r h'_\ell \frac{d_j^{(\ell)}}{\delta_j^{(\ell)}} \right) > 0,$$

$$\operatorname{Re}(\sigma) > -1, j=1, \dots, \alpha^{(i)}, h_i > 0, h'_\ell > 0, T_i > 0, |\arg(y_i)| < \frac{T_i \pi}{2}, i=1, \dots, R, \ell=1, \dots, r, |t| < 1.$$

(3) Reducing the H- function of several complex variables to the generalized Lauricella function [8] by putting $\lambda = A, \alpha^i = 1, \beta^{(i)} = M^i, N^{(i)} = N^{(i)} + 1, \forall i = 1, \dots, R$ in (2.1), we get the following result:

$$\int_0^1 x^{\rho-1} (1-x)^\sigma H \left[z_1 x^{h_1} (1-x)^{k_1}; \dots; z_r x^{h_r} (1-x)^{k_r} \right]$$

$$\cdot F_{\sigma:Q'; \dots; Q^{(s)}; 1; 1}^{v: P'; \dots; P^{(s)}; 0; 0} \left[\begin{matrix} [\alpha_v]:[a'; \dots; a^{(s)} \gamma, \gamma]; [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; [\dots]; [z'_1, \dots, z'_s - x t, (1-x)t] \\ [\beta_\sigma]:[b'; \dots; b^{(s)} \mu, \mu]; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; [\alpha+1:1]; [\beta+1:1]; \end{matrix} \right]$$

$$\cdot F_{C: N'; \dots; N^{(R)}}^{A: M'; \dots; M^{(R)}} \left[\begin{matrix} [1-(g): \gamma', \dots, \gamma^{(R)}]; [1-(q'): \eta']; \dots; [1-(q^{(R)}): \eta^{(R)}]; \\ [1-(f): \xi', \dots, \xi^{(R)}]; [1-(p'): \varepsilon']; \dots; [1-(p^{(R)}): \varepsilon^{(R)}]; \\ -y_1 x^{h_1} (1-x)^{k_1}, \dots, -y_R x^{h_R} (1-x)^{k_R} \end{matrix} \right] dx$$

$$= \sum_{k, n, n_i=0}^{\infty} \sum_{m_i=1}^{u^{(i)}} \frac{\prod_{j=1}^v (\alpha_j)_{n \gamma_j} \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha + \beta + n + 1)_k}{\prod_{j=1}^{\sigma} (\beta_j)_{n \mu_j} \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha + 1)_n (\beta + 1)_n k! (\alpha + 1)_k} \Phi_1 \Phi_2$$

$$\cdot F_{\sigma: Q'; \dots; Q^S}^{v: P'; \dots; P^S} \left[\begin{matrix} [\alpha_v + n \gamma_v]:[a'; \dots; a^{(s)}]; [(\ell'): P']; \dots; [(\ell^{(s)}): P^{(s)}]; \\ [\beta_\sigma + n \mu_\sigma]:[b'; \dots; b^S]; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; \\ z'_1, \dots, z'_s \end{matrix} \right]$$

$$\cdot \frac{\Gamma(1 + \sigma + \sum_{i=1}^r k'_i U_i) \Gamma(\rho + \sum_{i=1}^r h'_i U_i + k)}{\Gamma(1 + \rho + \sigma + k + \sum_{i=1}^r (h'_i + k'_i) U_i)}$$

$$\begin{aligned}
& \cdot F_{C+1:N'; \dots; N^{(R)}}^{A+2:M'; \dots; M^{(R)}} \left[\begin{matrix} \left[1+\sigma+\sum_{i=1}^r k_i' U_i; k_1, \dots, k_R \right]; \left[\rho+\sum_{i=1}^r h_i' U_i + K; h_1, \dots, h_R \right], \\ [1-(f): \xi'; \dots; \xi^R]; \end{matrix} \right. \\
& \left. \begin{matrix} [1-(g): \gamma'; \dots; \gamma^{(R)}]; [1-(q'): \eta']; \dots; [1-(q^{(R)}): \eta^{(R)}]; \\ \left[1+\rho+\sigma+k+\sum_{i=1}^r (h_i' + k_i') U_i; (h_1 + k_1); \dots; (h_R + k_R) \right]; [1-(p'): \varepsilon']; \dots; [1-(p^{(R)}): \varepsilon^{(R)}]; \\ -y_1, \dots, -y_R \end{matrix} \right] \dots (4.3)
\end{aligned}$$

Which is valid under the same condition as given in (2.1).

(4) Reducing the Lauricella function to the Kampé de Fériet function [7] by putting $i = 1, 2$ in (4.3) and we get the following result :

$$\begin{aligned}
& \int_0^1 x^{\rho-1} (1-x)^\sigma H \left[z_1 x^{h_1} (1-x)^{k_1}; \dots; z_r x^{h_r} (1-x)^{k_r} \right] \\
& \cdot F_{\sigma: Q'; \dots; Q^{(s)}; 1; 1}^{v: P'; \dots; P^{(s)}; 0; 0} \left[\begin{matrix} [\alpha_v]: [a'; \dots; a^{(s)}]; \gamma, \gamma': [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; [\dots]; [\dots]; z_1', \dots, z_s', -xt, (1-x)t \\ [\beta_\sigma]: [b'; \dots; b^{(s)}]; \mu, \mu': [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; [\alpha+1: 1]; [\beta+1: 1] \end{matrix} \right] \\
& \cdot S_{C: N': N''}^{A: M': M''} \left[\begin{matrix} [(g): \gamma', \gamma'']: [(q'): \eta']; [(q''): \eta'']; y_1 x^{h_1} (1-x)^{k_1}, y_2 x^{h_2} (1-x)^{k_2} \\ [(f): \xi', \xi'']: [(p'): \varepsilon']; [(p''): \varepsilon'']; \end{matrix} \right] dx \\
& = \sum_{k, n, n_i=0}^{\infty} \sum_{m_i=1}^{u(i)} \frac{\prod_{j=1}^v (\alpha_j)_{n_j} \gamma_j \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha + \beta + n + 1)_k}{\prod_{j=1}^{\sigma} (\beta_j)_{n_j} \mu_\sigma \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha + 1)_n (\beta + 1)_n k! (\alpha + 1)_k} \Phi_1 \Phi_2 \\
& \cdot F_{\sigma: Q'; \dots; Q^{(s)}}^{v: P'; \dots; P^{(s)}} \left[\begin{matrix} [\alpha_v + n \gamma_v]: [a'; \dots; a^{(s)}]; [(\ell'): \rho']; \dots; [(\ell^{(s)}): \rho^{(s)}]; z_1', \dots, z_s' \\ [\beta_\sigma + n \mu_\sigma]: [b'; \dots; b^{(s)}]; [(m'): \tau']; \dots; [(m^{(s)}): \tau^{(s)}]; \end{matrix} \right] \\
& \cdot S_{C+1: N'; N''}^{A+2: M'; M''} \left[\begin{matrix} [1-\rho-\sum_{i=1}^r h_i' U_i - k; h_1, h_2]; [-\sigma-\sum_{i=1}^r k_i' U_i; k_1, k_2], \\ [(f): \xi'; \xi'']; \end{matrix} \right]
\end{aligned}$$

$$\left. \begin{aligned} &[(g):\gamma';[(q):\eta'];[(q''):\eta']; \\ &[-\rho-\sigma-k-\sum_{i=1}^r (h'_i+k'_i)U_i;(h_1+k_1),(h_2+k_2)];[p']:\varepsilon';[(p'):\varepsilon']; \end{aligned} \right] y_1, y_2 \quad \dots(4.4)$$

Which is valid under the same condition as surrounding (2.1).

(5) Reducing the H-function of several complex variables to the product of R mutually independent H- functions by taking $\lambda = A = C = 0$ in (2.1), we get the following result :

$$\begin{aligned} &\int_0^1 x^{\rho-1} (1-x)^\sigma H \left[z_1 x^{h'_1} (1-x)^{k'_1}; \dots; z_r x^{k'_r} (1-x)^{h'_r} \right] \\ &\cdot F_{\sigma:Q';\dots;Q^{(s)};1;1}^{v:P';\dots;P^s;0;0} \left[\begin{array}{l} [\alpha_v]:[a';\dots;a^{(s)};\gamma,\gamma];[(\ell'):\rho'];\dots;[(\ell^{(s)}):\rho^{(s)}];[\dots];[z'_1,\dots,z'_s,-xt,(1-x)t] \\ [\beta_\sigma]:[b';\dots;b^{(s)};\mu,\mu];[(m'):\tau'];\dots;[(m^{(s)}):\tau^{(s)}];[\alpha+1:1];[\beta+1:1] \end{array} \right] \\ &\cdot \prod_{i=1}^R \left\{ H_{M^{(i)},N^{(i)}}^{\alpha^{(i)},\beta^{(i)}} \left[y_i x^{h_i} (1-x)^{k_i} \middle| \begin{array}{l} [(q^{(i)}):\eta^{(i)}] \\ [(p^{(i)}):\varepsilon^{(i)}] \end{array} \right] \right\} dx \\ &= \sum_{k,n,n_i=0}^{\infty} \sum_{m_i=1}^{u^{(i)}} \frac{\prod_{j=1}^v (\alpha_j)_{n_j} \gamma_j \prod_{i=1}^r (z_i)^{U_i} (-1)^{\sum_{i=1}^r (n_i)} t^n (-n)_k (\alpha + \beta + n + 1)_k}{\prod_{j=1}^{\sigma} (\beta_j)_{n_j} \mu_\sigma \prod_{i=1}^r \left(\delta_{m_i}^{(i)} n_i! \right) (\alpha + 1)_n (\beta + 1)_n k! (\alpha + 1)_k} \Phi_1 \Phi_2 \\ &\cdot F_{\sigma:Q';\dots;Q^{(s)}}^{v:P';\dots;P^{(s)}} \left[\begin{array}{l} [\alpha_v+n\gamma_v]:a';\dots;a^{(s)};[(\ell'):\rho'];\dots;[(\ell^{(s)}):\rho^{(s)}]; \\ [\beta_\sigma+n\mu_\sigma]:b';\dots;b^{(s)};[(m'):\tau'];\dots;[(m^{(s)}):\tau^{(s)}]; \end{array} \middle| z'_1,\dots,z'_s \right] \\ &\cdot H_{2,1:[M',N'];\dots;[M^R,N^{(R)}]}^{0,2:(\alpha',\beta');\dots;(\alpha^{(R)},\beta^{(R)})} \left[\begin{array}{l} \left[1-\rho-\sum_{i=1}^r h'_i U_i -k; h_1;\dots;h_R \right], \\ \left[(f):\xi',\dots,\xi^{(R)}; [-\rho-\sigma-K-\sum_{i=1}^r (k'_i+h'_i)U_i;(h_1+k_1),\dots,(h_R+k_R)] \right] \end{array} \right] \\ &\cdot \left[\begin{array}{l} \left[-\sigma-\sum_{i=1}^r k'_i U_i; k_1,\dots,k_R \right]; [(q):\eta'];\dots;[q^{(R)}:\eta^{(R)}]; \\ [(p'):\varepsilon'];\dots;[p^{(R)}:\varepsilon^{(R)}]; \end{array} \right] y_1,\dots,y_R \quad \dots(4.5)$$

which holds under the same condition as for (2.1).

REFERENCES RÉFÉRENCES REFERENCIAS

1. Chaurasia, V.B.L. and Godika, Anju – Integral associated with general class of polynomials, generalized Lauricella's function and the H - function of several complex variables, Jñānabha, 28 (1998), 33 - 41.
2. Olkha, G.S. and Chaurasia, V.B.L. – Some integral transform involving the H-function of several complex variables, Kyungpook Math. J. 22 (1982), 309 - 315.
3. Olkha, G.S. and Chaurasia, V.B.L. – Series representation for the H-function of several complex variables, The Math. Edu. 19(1) (1985), 38 - 40.
4. Srivastava, H.M. and Panda, R. – Some bilateral generating functions for a class of generalized hypergeometric polynomials, J. Reine Angew. Math., 283/284 (1976), 265 - 274.
5. Srivastava, H.M. and Panda, R. – Expansion theorems for the H-function of several complex variables, J. Reine Angew. Math., 288 (1976), 129 - 145.
6. Srivastava, H.M. and Daoust, Martha, C. – Some generating functions for the Jacobi polynomial, Comment. Math. Univ. St. Paul. 20 (1971), 15 - 21.
7. Srivastava, H.M. and Daoust, Martha, C. – On Eulerian integrals associated with Kampé de Fériet function, Publ. Inst. Math. (Beograd) Nouvelle, Ser. 9 (23) (1969).
8. Srivastava, H.M. and Daoust, Martha, C. – Certain generalized Neumann expansion associated with Kampé de Fériet function, Nederl. Akad. Wetensch. Proc. Ser. A 72 = Indag. Math. 31 (1969), 449 - 457.



GLOBAL JOURNALS INC. (US) GUIDELINES HANDBOOK 2011

WWW.GLOBALJOURNALS.ORG